AP Physics – Electric Current Quiz
1. Okay, here’s the deal.  2.67 x 1020 electrons travel through a 25.0 ( resistor in 0.878 s.  Find: (a)  the voltage drop for the resistor, (b) the power rating for the resistor, (c) the amount of electrical energy converted into heat by the resistor in 28.0 min.
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2. Find the force between charges of +100.0 (C and -75.0 (C.  They are 13.5 cm apart.   
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3. Observe the circuit below.  Find the following:  (a) the total resistance of the circuit, (b) the total current, (c)  the voltage provided by the battery, and (d) the power dissipated by the 255 ( resistor. 
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A charge, q1, is on a small sphere of mass equal to 215 g.  The angle ( is 18.5(.  Another charged sphere is set into the vertical wall as shown.  Find the value of the charge on the second sphere, q2.
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Sum forces in y direction:
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Sum forces in x direction:
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